4=116< Vx<5= 25
sox=17,18,19,20,21, 22,23, 24,25




Os 7 A ta AT $A4 82 220

@ V21+3<V19-4
© V19- V5> V15 - V7
© VI5+3> Vi15+2

@o @ © ® 6.0
@ 0,0 ® 9,00

~&B

@ V21 +3 - (VI9-4) = V21 - VIO +7>0
V21 43> 4194
© (V19 - V5) = (V15 - V7)
= (V19— VI5) + (V7 - V5) > 0
V19— VB> V15— 7
© (VI5+3) - (VI5+2)=3-2>0




Te-ag/3--77

o 20 o @n  ©n

AAZEG o] Yol (7ha)x (A=) olnz
2V3x V5 =2V15 = V60 oI
wh2bA a o] g2 60 ©|t.




4. (=3x+2y)(3x+2y) - (5x+ 2y)(5x — 2y) = 7t+5] S}H?

O -15x% + 8y? @ -15x% + 16y? @ —34x% + 4y?
(@)—34x2 + 8y? ® —34x% + 16y?

—(3%)% + (29)? - {(5x)* + (-2)*}
= —9x2 + 4y? — 25x2 + 4y?
= —34x> + 8y?




2o A

o
/\T_"?

(3x+2) (2x-5) & A/t Aoz

@ 6x2-11x+10 @ 6x2-11x-7

® 6x2+11x—-10 @ 6x2-16x-10

@6x2 —11x-10

(+=A]) = 6x% - 11x - 10




6. ma—mb+mc S ATES

rek

AL

® m(a+b+c) @ m(a-b-c) @m(a—b—i—c)

@ ma(1-b+c) ® m(a+b-c)

ma—mb+mc=m(a—b+c)




the LY o] RExF9] dol7} 1 ¢l ARE oA tan x & YEH=

—

®0A @oB ®oc @as (G)cp




2 SHAGE]E ABCD oA AC =
18 cm, «DOC = 60° ¥ o, cABCD 9
Blo]E Fotofet,

Ch " 2
| — )

>
> Heh: 8143 cm?

~&B

ODABCD & SHIAICE[Eo| B g2

AC =BD = 18cmo]th,

OABCD = % X 18 x 18 x sin 60 °
V3

1
= - X18X 18X —
2><8 8 5

=813 (cm?)




9.

&
H7|oA g2 A& nF 1
FaEw?

@ -3 9] AlFT —:‘-_‘—xﬂa}xL
2 VO O] AlFTE +3 ot} o
V25 = =5 o At |

® AFZL 102 V10 °

> =

> E:

> O

> e @

OV9 I AFETL +
OV L 59}7@ 3 oJtt.




@ -V25=5 @ -/(-6)2=6
O vy > 4
Dot o () -
® /(-5)?=-5

@ -vV25=-5
@ -/(-6)2 =-6

o-() -

® /(-5)?=5




f

ste] ViBa 7t A4 L 2 g ), 4 O] 3 &

Vi8a= V3X3x2xa,a=2




12. (x+A)? = 2 + Bx+ 8i1 A A, B O oz Fsd AL nE

A2H?
1 2 1 1
A=_-,B== A=-,B=~
@ 9’1 ’) ? ? ’)
A=->, B=- A—- B——=
@ %7 32 @ 9’ 9
A=--,B=-=
@a--5 8-

1
(x+A)2:x2+2Ax+A2:x2+Bx+g

1 1 2 1
A2:—O]EEAZg?:_‘-WBZg,A:—g%]EHB:——




13. Thg T AT B2 Holg Tajeldl,

-I~ ,—’3y_‘~\

c} -
H =

>
[> HED 2x% +6xy

(x + 3y)2x = 2x% + 6xy




14. 22 - Ax+8 = (Bx-1)(x=C) L o, A+ B+C 9| k& Fojoiet

> E.

[> ®MEl. A+B+C=27

B ‘

(Bx-1)(x=C) =Bx>-BCx-x+C

=2x> - Ax+8
B=2C=8
“BC-1=-2x8-1=-17=-A, A= 17
LA+B+C=27




15. o2 23 28 AABC oA /B =85°, /C =
65°, BC =12 & o, AB ] Aol &4 o}
A Z42]7kA] P2 (T sin 65 ° = 0.9063)

A

@ 20.153 @21.751 B 22.482
@ 23.581 ® 24.372

B

/A =180°-(85°+65°) =30°
BH = 125in65° = 10.8756

BH
sin 30 °

. AB=

= 10.8756 x 2 = 21.7512




oS A2H Foll A Jol7t 7 2 AL Skt (3 V3 =1.7322
A4St
9
@ -~ X \
-4 p)
’ [ 1
\_4,r
@ 4=y
A AW
0
P
SI=G)
1 1 25
@S—§X5X10X§—?
@S:%x4x2:8
©S<%><5><3:1—25
@S:%x5x4x§=5\/§=&66
@S:%x4x4x§:4\/§:6.928




D 48v6 @ 485 @48«5 @ 482

~&B

1
(AABC) = = x 24 x 8 V3 x sin 30°

1
— - x24x8V3x -
5 X ><8\/_><2
=483




18. 9< V2x+30<12 ¥ o, V2x + 302 A57t HA st A4S x 9
g FotofEt

> E.

9< V2x+30 < 12
2x + 30 = 102 = 100, x = 35
2x +30 =112 =121, x =455




19, (x—2)(x—1)(x+ 1)(x+2) oA 22 9] A%E Fofoler

> E.

> X -5

B

(x=2)(x=1)(x+1)(x+2)
={(x-1)(x+DH(x-2)(x+2)}
=(x2-1)(x2-4) =x*-5x2 +4
wjebA] 12 o] A%k 5olet.




20.

(x+4)? —2(x+4) - 159 x o] Al7H1 Q1 F A4 ] FO 2 Q1
we)d o, 5 AxAo] e

D)2x+6 @ 2x-6 ® 2x+8

@ x*+6 ® 6

x+4=12 X3
2-2t-15=(t-5)(t+3)




21. (2x-1)2-9 EJAFES st a(x +b)(x+¢) 2 UEFE T, be —a
o) g2 Tofolat

> E.

> Het: be—a= -6

~&B

(2x-1)2-9=(2x-1+3)(2x-1-3)
= (2x+2)(2x—4)
A+ 1)(x=2)
a(x+b)(x+c)
a=4,b=1,c=-2
Sobc-a=-2-4=-6




22. X -dxy+4y* -2 & JApEofot=d ARE 1ol
FI2H? (HF, a>0,b>0)

® a®+ 2ab+ b* = (a + b)?
@)a? - 2ab + b? = (a - b)?
@)a? -2 = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

X2 — dxy + 4y? — 22
=(x-2)?%-22>d?>-2ab+b* = (a-b)?
=(x-2y+2)(x—2y—2) >a®>-b?> = (a+b)(a-b)




23. TheL -8l & A5ES) @ Zolrk, o uf [ oref e A
A5 G FoHE?

Aoyt =2+ P+ - W

D 13 @15 ® 18 @ 20 ® 24

xt = 8Lyt = (x* +9?)(x* - 9%)
= (2% + 9y*)(x + 3y) (x - 3y)
~9+3+3=15




24.

7107} 12m <1 AR} ohS T3}
o] HalA gl}, AWozHE He ‘
2 3749 o] h o] ZHS Fahoiet,
(2, sin37° = 0.6 , cos37° = 0.8 ,

tan37° = 0.8 2 ARt} \37° /

C} -
H =

=

>
> &E: 45 m

B

Axdie] dol7t 12m o] B2 AW RE F23] 3712 9
=05 h 2t st FA FEo] ol 12 - h o[t

h=(12-h)sin37°

=(12-h)x 0.6
=7.2-0.6h
1.6h =72 0|22 h = . 4.5(m) ©Jtt.

2




25. T 193 & AABC oA AB = 24, /B = 60° ]2 D 7} BC
o] $¥ < uf, AD 9] do]E F35}H?

@6vs @ ® 12 @ 12V3  © 4V13

1) AC = 245sin60° = 12V3
BC = 24 cos60° = 12
DC=6

2) AD = /62 + (12V3)2 =6 V13




